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FEf FH BEX BRAH | SHEEY | RBREH | aBEH | BeE
X =T 4 16 16 1 16.0
e BAEER ET4 12 12 1 12.0
il FERER =4 10 10 1 10.0
XA e EHPER ET4 10 10 4 2.5
BAXERH =T 4 15 15 2 7.5
HEET)-vavER EF4 23 23 5 4.6
&t - 86 86 14 6.1
7 OTER =T 4 22 22 3 7.3
A—0y/8 - T AU DR =T 4 17 17 4 4.3
LR R EF4 26 26 3 8.7
XA RFH  [XEAEER EF4 7 7 2 3.5
B AT 1 7R ET4 10 10 1 10.0
DI - HRPH EF4 16 16 1 16.0
&t - 98 98 14 7.0
NG ET4 17 17 9 1.9
BEFL =R =5T4 7 7 5 1.4
& - 24 24 14 1.7
REHFFH ET4 23 23 3 1.1
REHBFH
&t - 23 23 3 7.7
HEZEH ET4 9 9 1 9.0
B R R— Y #H EF 4 11 11 1 11.0
HEFH =T4 0 - - -
AEFE
EEAR— YRR ET4 9 9 1 9.0
A =YLy 4-TAY AR EF4 14 14 1 14.0
&t - 43 43 4 10.8
REYHS 4D R =T 4 24 24 1 24.0
fR2RFE
&t - 24 24 1 24.0
RPN ET4 53 53 2 26.5
REED
&t - 53 53 2 26.5
BUaFH ET4 45 45 2 22.5
BUARESE  [@EEH EF4 52 52 3 17.3
&t - 97 97 5 19.4
REEH ET4 44 44 2 22.0
REF
&t - 44 44 2 22.0
ER R =T 4 46 46 3 5.3
EFRAED
&t - 46 46 3 15.3
goLEH ET4 26 26 1 26.0
BT
&t - 26 26 1 26.0
N 1R (S 2 ET4 31 21 1 21.0
A ES
&t - 31 21 1 21.0
R EF4 24 24 1 24.0
TR MEFH =T4 20 19 6 3.2
) MR EF4 18 18 7 2.6
feRt EF4 24 24 1 24.0
&t - 86 85 15 5.7
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ER FH BER SEAH | EREEH | ZREW | ABER| BmEE
1EHRFIER T4 30 29 2 14.5
aVEL—32EAIZER =14 23 22 1 22.0

IERIB T P8
1B|A T 1« 7TER T4 22 21 1 21.0
&5t - 75 72 4 18.0
BEZH =T 4 34 34 2 17.0
BEATHES T RITEH =T4 22 21 13 1.6
&t - 56 55 15 3.7
MZEFHER MZEFHPER =T4 23 23 4 5.8
e T2 Rl =14 33 33 5 6.6
W AT LIEH T4 34 34 20 1.7
BREFIZEH =T4 31 30 2 15.0
TER
EIZFH T4 20 20 14 1.4
EY TR =14 27 27 3 9.0
ey zzR =2t =ET4 21 21 5 4.2
&5t - 189 188 53 3.5
EEER =14 10 10 1 10.0
EFER
At - 10 10 1 10.0
EEETEH BAETPERK =T4 12 12 11 1.1
BIEEIEH fiBFER =14 8 8 2 4.0
MBERE KEZR =14 13 13 2 6.5
EEAEYEH T4 18 18 1 18.0
&5t - 51 51 16 3.2
AR T4 16 16 15 1.1
ASCEEER
&t - 16 16 15 1.1
BrEEH =14 6 6 2 3.0
Hhigi#t S =T4 7 7 7 1.0
XIE A
ABEHRIZER T4 12 11 10 1.1
At - 25 24 19 1.3
BER T4 24 23 19 1.2
YRR =T4 17 17 17 1.0
B
BEGHEH T4 18 18 18 1.0
At - 59 58 54 1.1
Hhigk Bl & =2 F T4 6 6 4 1.5
E b2 EfffaIa=45—23 2R =T4 8 8 7 1.1
&5t - 14 14 11 1.3
R T4 26 26 10 2.6
EYEER EEAEYRESER =T4 18 18 9 2.0
&t - 44 44 19 2.3
Wt - 1,220 1,208 286 4.2
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